
10

FIXINGS / FEET / CABLE MANAGEMENT

C
U

B
IC

 S
E

R
IE

S

    PANEL FIXING KIT   ORDER CODE

  4 x M6 CAGED NUT

  4 x M6 SCREW         420404

  4 x M6 WASHER

  40 x SELF-TAPPER

    PANEL FIXING KIT   ORDER CODE

  M6 CAGED NUT (50)

  M6 SCREW (50)         420502

  M6 WASHER (50)

     PANEL FIXING KIT       ORDER CODE

M6 RETAINING WASHER         420404

1/4 TURN FIXING         420502

M6 CAGED NUT         81266F

EMC PANEL GASKET         41218C

            ORDER CODE

  RUBBER FOOT (4)               44039

  ADJUSTABLE FOOT (4)         87470D

  CASTOR N/LOCK (1)         87404F           

  CASTOR LOCK (1)         87403G

         D  H       ORDER CODE

                            12U               445304

      100 21U         445305

  27U         87577H

42U         87578D

ORDER CODES        PANEL FIXINGS

ORDER CODES        PANEL FIXINGS

ORDER CODES        PANEL FIXINGS

ORDER CODES             FEET

ORDER CODES     CABLE MANAGEMENT

(2-3mm MAT)


	Page 1

